3anuvwem HavanbHble ycnoBus

Plsl =2 PZsl =1 P351 =1 Sl =25 Cp1:: 600
Piog=1 Pogpi=1 Py =1 Sy=14 CpZ:: 550
Pig=1 Pogi=1 Pagg =2 S3:=19 CpS:: 750
Pl =3 Pogy =10 2'Pagy = 1 Sy:= 24

OnpegenuM MakcyMarnbHO BO3MOXHbIE 3HAYEHUS €AMHULL MPOAYKLMK
®eS1 S S %606
Z'1:= ming , , , = float,1 ® 8.0
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Z'3:=ming , , , = float,1 ® 9.0
&P3s1 P32 P33 Paugy

3agaemcs paHXXMpoBaHUEM NepeMeHHbIX
2= 0..2'1 zy:= 0..2'2 z3:= 0..2'3

Q(zl,zz,zs) = é(Plsl’zl + Pog1%2o + PSsl"ZS) £ Slf%(Plsz"Zl + PogXzy + P352>23) £ SZL\>€’(P153’21 + Poggzo + P353>23) £ SI{%(PlsA"Zl + Pogyp2o + P354>23) £ S{>(21>Cp1 + 22>Cp2 + 2
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z“l =1 z“2 =1 z“3 =1
MpounssoamMm NOUCK NTOTOBbLIX YNCEN
Given

Q(z'1,2",2'3) = 8826
210
¢c. =
¢Z2+:=Fi nd(z“l 2", z"3)
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NOy4uM criegytoLume Yucrna, oKpyrieHHble 40 1 B MEHbLUYH CTOPOHY
zq = ceil(zl) zy =5 eOuHuu npoaykumm 1

zy:= floor(zz) Zp =4  eOuHWL NpoayKunmn 2
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- AvanasoH BO3MOXHbIX e4VHUL, MPOAYKLMM



z3:= roor(zS) z3=5 eauHuL npoaykuun 3
MTOroBbIN JOX04 Npu yyeTe BepxHen opMyrbl
Q(Zl'ZZ'ZB) =8.95" 103 YCINOBHbIX €4NHULL

caenaemM npoBepky Ha obecneyeHre pecypcamm

(Prs11 * Posi 2o + Pasr23) £ S

(Pr?r * Pop2p + Pa23) £S)

(Prsg™r * Posg®p + Pasg3) £ S3
P152>$Zl + P252>22 + P352>23 =14 SZ =14
P153>$Zl + P253>22 + P353>23 =19 83 =19

P154>$Zl + P254>22 + P354>23 =20 84 =24

lMpoBepka BbINOMNHEHA.



